UDS Supply List

55 steel gallon drum unlined

3/4" brass ball valve

3/4" x close black steel pipe nipples

3/4" black steel pipe caps

3/4" conduit nuts

11/2" x 1/4" bolts, 1/4" nuts, 1/4" lock washers (grill mount)

gate handles

#12-24 x 1/2" bolts, 1/4" washers, 1/4" nuts (handle hardware)

22.5" weber grate

fire basket

Nk ]rjJOoOjlwWw]lRlOINN]ITW]R]R

3/4" washers (spacers on nipples)

*items came from Home Depot and Tractor Supply




GATE HANDLE
/ W/ HARDWARE

GATE HANDLE
W/ HARDWARE‘\':

55 GAL.
DRUM

GATE. HANDLE
:\/7 W,/ HARDWARE

ANDI

LE
ARDWARE

S5
-m
T

22.5” WEBBER
RACK

GATE. HANDLE
W/ HARDWARE‘\':

GATE. HANDLE
f W,/ HARDWARE

FIRE BASKET
|~ (SEE PLAN)

)
N

SN

1” DIA. HOLE (3)
/_ TOTAL

Yy

3/4” BRASS BALL
ALVE BELOW

UDS ELEVATION

3/4" BRASS BALL
ALVE BELOW

2" HOLE FOR
EXHAUST VENT

UDS PLAN

3/4” x CLOSE BLACK STL. PIPE
NIPPLE, 3/4" CONDUIT NUTS,
3/4” WASHER (SPACERS ON NIPPLES)

DRUM LID

| ,/_]I'O'I!?AIC HOLE (3)

1
bq

3/4" BLACK STL PIPE CAPES UDS SECTION
W/ HARDWARE PARTS LIST

04,/12/2011|

UDS W/ FIRE BASKET & ASH PAN
FOR: MALCOM REED — KILLER HOGS BBQ




18GA x 16" DIA. EXPANDED

METAL BASKET

BASKET PLAN

18GA x 9" EXPANDED
/ METAL BASKET

L

\—1" DIA. x 2" COLD ROLLED
STEEL ROD WELDED TO
BOTTOM OF BASKET

BASKET ELEVATION

1" DIA. x 2" COLD ROLLED
STEEL ROD WELDED TO
BOTTOM OF BASKET

18GA x 18" DIA. COLD R D
WELDABLE STEEL PLATE W,
2" SIDES

1" DIA. x 2" COLD ROLLED
STEEL 'ROD WELDED 10
PLATE
O O
CATCH PAN PLAN
2" x 18GA SIDES |

LR

\—1" DIA. x 2" COLD ROLLED
STEEL ROD WELDED TO
PLATE

CATCH PAN ELEVATION

AN VAN
[AET TR R R
SSLLEQOR
AN

= RSN
ED
[

IS0

A

& <K AKX AKX 2
:‘: RRRGEEY
L_/

FIRE BASKET W/ ASH PAN

04/12,/2011

FOR: MALCOM REED — KILLER HOGS BBQ




	partslist
	UDSsupply.pdf

	UDS01
	FIRE BASKET

